



Some Properties of a Subclass of Univalent Functions

Waggas Galib Atshan and Mohammed Hadi Lafta

Department of Mathematics, College of Computer Science and Mathematics, University of Al-Qadisiya ,Diwaniya, Iraq

waggashnd@gmail.com , waggas_hnd@yahoo.com , mohammad.hadi1991@yahoo.com

Abstract: In this paper, we introduce a certain subclass of univalent functions $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$. We obtain some results, like, coefficient inequality, distortion theorem, extreme points, radii of close to convex and convexity for this class and convolution operator, integral representation, inclusive properties and weighted mean.

Keywords: Univalent function, Distortion theorem, Radius of convexity, Extreme points, Convolution operator, Integral representation, Weighted mean.

2015 Mathematics Subject Classification: 30C45, 30C50.



Council for Innovative Research

Peer Review Research Publishing System

Journal: JOURNAL OF ADVANCES IN MATHEMATICS

Vol .10, No.9

www.cirjam.com , editorjam@gmail.com

1. INTRODUCTION:

Let \mathcal{A} denote the class of functions of the form :

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad n \in \mathbb{N}, \tag{1.1}$$

which are analytic and univalent in the open unit disk $U = \{z \in \mathbb{C} : |z| < 1\}$.

Consider a subclass \tilde{I} of the class \mathcal{A} consisting of functions of the form:

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n, \quad (a_n \geq 0; n \in \mathbb{N}). \tag{1.2}$$

The Hadamard product of two functions, f is given by (1.1) and

$$g(z) = z + \sum_{n=2}^{\infty} b_n z^n, \quad n \in \mathbb{N}, \tag{1.3}$$

is defined by

$$(f * g)(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n = (g * f)(z).$$

Definition (1.1): Let $f \in \mathcal{A}$ given by (1.1). Then f be in the class $\mathcal{H}(f, g, V, M, \alpha, \beta, \gamma)$ if it satisfies the following condition:

$$\left| \frac{\frac{z(f * g)''(z)}{(f * g)'(z)} - \alpha \gamma \left| \frac{z(f * g)''(z)}{(f * g)'(z)} \right|}{M \left[\frac{z(f * g)''(z)}{(f * g)'(z)} - \alpha \gamma \left| \frac{z(f * g)''(z)}{(f * g)'(z)} \right| \right] - (V - M)} \right| < \beta, \tag{1.4}$$

where $\alpha \geq 0, 0 < \beta \leq 1, -1 \leq M < V \leq 1, -1 \leq M < 0, \gamma \geq 0$.

We define the subclass $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma) = \tilde{I} \cap \mathcal{H}(f, g, V, M, \alpha, \beta, \gamma)$.

Such type of study was carried out by several different authors for another class, like, Schild and Silverman [8], Gupta and Jain [6] and Goodman [5].

2. Coefficient inequality

The first theorem gives a necessary and sufficient condition for a function f to be in the class $\mathcal{H}(f, g, V, M, \alpha, \beta, \gamma)$.

Theorem(2.1): Let the function $f(z)$ defined (1.1). If

$$\sum_{n=2}^{\infty} n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]|a_n||b_n| \leq \beta(V-M), \tag{2.1}$$

where $(\alpha \geq 0, 0 < \beta \leq 1, -1 \leq M < V \leq 1, -1 \leq M < 0, \gamma \geq 0)$, then $f \in \mathcal{H}(f, g, V, M, \alpha, \beta, \gamma)$.

Proof: Let the condition (2.1) holds true and let $|z| = 1$. Then we have

$$\begin{aligned} & \left| z(f * g)''(z) - \alpha \gamma e^{i\theta} |z(f * g)''(z)| - \beta [(V - M)(f * g)'(z) - M \{z(f * g)''(z) - \alpha \gamma e^{i\theta} |z(f * g)''(z)|\}] \right| \\ &= \left| \sum_{n=2}^{\infty} n(n-1)a_n b_n z^{n-1} - \alpha \gamma e^{i\theta} \left| \sum_{n=2}^{\infty} n(n-1)a_n b_n z^{n-1} \right| \right| - \\ & \beta \left| (V - M) + (V - M) \sum_{n=2}^{\infty} n a_n b_n z^{n-1} - M \left[\sum_{n=2}^{\infty} n(n-1)a_n b_n z^{n-1} - \alpha \gamma e^{i\theta} \left| \sum_{n=2}^{\infty} n(n-1)a_n b_n z^{n-1} \right| \right] \right| \\ & \leq (1 + \alpha \gamma) \sum_{n=2}^{\infty} n(n-1)|a_n||b_n||z|^{n-1} - \beta(V - M) + \beta(V - M) \sum_{n=2}^{\infty} n|a_n||b_n||z|^{n-1} + \beta|M|(1 + \alpha \gamma) \sum_{n=2}^{\infty} n(n-1)|a_n||b_n||z|^{n-1} \\ & \leq \sum_{n=2}^{\infty} n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]|a_n||b_n| - \beta(V-M) \leq 0, \text{ by hypothesis.} \end{aligned}$$

Hence, by the principle of maximum modulus, $f \in \mathcal{H}(f, g, V, M, \alpha, \beta, \gamma)$.

Theorem(2.2): Let the function $f(z)$ defined by (1.2) be in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$ if and only if

$$\sum_{n=2}^{\infty} n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]a_n b_n \leq \beta(V-M). \quad (2.2)$$

$$(\alpha \geq 0, 0 < \beta \leq 1, -1 \leq M < V \leq 1, -1 \leq M < 0, \gamma \geq 0).$$

Proof: we only need to prove the "only if" part of Theorem (2.1). For functions $f(z) \in \tilde{I}$, we can write

$$\begin{aligned} & \left| \frac{\frac{z(f * g)''(z)}{(f * g)'(z)} - \alpha\gamma \left| \frac{z(f * g)''(z)}{(f * g)'(z)} \right|}{M \left[\frac{z(f * g)''(z)}{(f * g)'(z)} - \alpha\gamma \left| \frac{z(f * g)''(z)}{(f * g)'(z)} \right| \right] - (V - M)} \right| \\ &= \left| \frac{z(f * g)''(z) - \alpha\gamma e^{i\theta} |z(f * g)''(z)|}{M[z(f * g)''(z) - \alpha\gamma e^{i\theta} |z(f * g)''(z)|] - (V - M)(f * g)'(z)} \right| \\ &= \left| \frac{(1 + \alpha\gamma e^{i\theta}) \sum_{n=2}^{\infty} n(n-1)a_n b_n |z|^{n-1}}{(V - M) - (V - M) \sum_{n=2}^{\infty} n a_n b_n z^{n-1} + M(1 + \alpha\gamma e^{i\theta}) \sum_{n=2}^{\infty} n(n-1)a_n b_n |z|^{n-1}} \right| < \beta. \end{aligned}$$

Since $Re(z) \leq |z|$, ($z \in U$), we thus find that

$$Re \left(\frac{(1 + \alpha\gamma e^{i\theta}) \sum_{n=2}^{\infty} n(n-1)a_n b_n |z|^{n-1}}{(V - M) - (V - M) \sum_{n=2}^{\infty} n a_n b_n z^{n-1} + M(1 + \alpha\gamma e^{i\theta}) \sum_{n=2}^{\infty} n(n-1)a_n b_n |z|^{n-1}} \right) < \beta.$$

If we now choose z to be real and let $z \rightarrow 1^-$, we get

$$\sum_{n=2}^{\infty} n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]a_n b_n \leq \beta(V-M),$$

which is equivalent to (2.2). ■

Corollary (2.1): Let the function $f(z)$ defined by (2.1) be in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$. Then

$$a_n \leq \frac{\beta(V-M)}{n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_n}.$$

The result is sharp for the function

$$f(z) = z - \frac{\beta(V-M)}{n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_n} z^n. \quad (2.3)$$

3. Distortion and Growth Theorem

Next, we obtain the distortion and growth theorems for a function f to be in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$.

Theorem (3.1): Let the function $f(z)$ defined by (1.2) be in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$. Then for $z \in U$, we have

$$\left| z - \frac{\beta(V-M)}{2[(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_2} |z|^2 \right| \leq |f(z)| \leq \left| z + \frac{\beta(V-M)}{2[(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_2} |z|^2 \right|, |z| < 1. \quad (3.1)$$

The result is sharp for the function $f(z)$ given by

$$f(z) = z - \frac{\beta(V-M)}{2[(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_2} z^2. \quad (3.2)$$

Proof: It is easy to see from Theorem (2.2) that

$$2[(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_2 \sum_{n=2}^{\infty} a_n \leq \sum_{n=2}^{\infty} n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]a_n b_n \leq \beta(V-M).$$

Then

$$\sum_{n=2}^{\infty} a_n \leq \frac{\beta(V-M)}{2[(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_2}. \quad (3.3)$$

Making use of (3.3), we have

$$\begin{aligned} |f(z)| &\geq |z| - |z|^2 \sum_{n=2}^{\infty} a_n \\ |f(z)| &\geq |z| - \frac{\beta(V-M)}{2[(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_2} |z|^2, \end{aligned}$$

and

$$|f(z)| \leq |z| + |z|^2 \sum_{n=2}^{\infty} a_n$$

$$|f(z)| \leq |z| + \frac{\beta(V-M)}{2[(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_2} |z|^2. \blacksquare$$

Theorem (2.3): Let the function $f(z)$ defined by (1.2) be in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$. Then for $z \in U$, we have

$$1 - \frac{\beta(V-M)}{[(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_2} |z| \leq |f'(z)| \leq 1 + \frac{\beta(V-M)}{[(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_2} |z|, |z| < 1, \quad (3.4)$$

with equality for

$$f(z) = z - \frac{\beta(V-M)}{2[(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_2} z^2.$$

Proof: From (3.3) and Theorem (2.2) that

$$\sum_{n=2}^{\infty} n a_n \leq \frac{\beta(V-M)}{[(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_2}.$$

Consequently, we have

$$\begin{aligned} |f'(z)| &\geq 1 - |z| \sum_{n=2}^{\infty} n a_n \\ &\geq 1 - \frac{\beta(V-M)}{[(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_2} |z|, \end{aligned}$$

and

$$\begin{aligned} |f'(z)| &\leq 1 + |z| \sum_{n=2}^{\infty} n a_n \\ &\leq 1 + \frac{\beta(V-M)}{[(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_2} |z|. \blacksquare \end{aligned}$$

4. Closure Theorems

We will consider the functions $f_j(z)$ defined, for $j = 1, 2, 3, \dots, l$ by

$$f_j(z) = z - \sum_{n=2}^{\infty} a_{n,j} z^n, \quad (a_{n,j} \geq 0). \quad (4.1)$$

In the following, we prove closure theorem.

Theorem (4.1): Let the functions $f_j(z)$ defined by (4.1) be in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$.

Then the function $h(z)$ defined by

$$h(z) = \sum_{j=1}^l c_j f_j(z) \text{ and } \sum_{j=1}^l c_j = 1, c_j \geq 0$$

is in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$.

Proof: By definition of h , we have

$$h(z) = \left[\sum_{j=1}^l c_j \right] z - \sum_{n=2}^{\infty} \left[\sum_{j=1}^l c_j a_{n,j} \right] z^n,$$

further. Since f_j are in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$, for every $j = 1, 2, 3, \dots, l$, we get

$$\sum_{n=2}^{\infty} n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)] a_{n,j} \leq \beta(V-M),$$

for every $j = 1, 2, 3, \dots, l$. Hence, we can see that

$$\begin{aligned} & \sum_{n=2}^{\infty} n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)] \left[\sum_{j=1}^l c_j a_{n,j} \right] \\ &= \sum_{j=1}^l c_j \left[\sum_{n=2}^{\infty} n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)] a_{n,j} \right] \\ & \leq \sum_{j=1}^l c_j \beta(V-M) = \beta(V-M), \end{aligned}$$

which implies that $h(z) \in \tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$. ■

Theorem (4.2): Let $f_1(z) = z$ and

$$f_n(z) = z - \frac{\beta(V-M)}{n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_n} z^n.$$

Then $f(z)$ is in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$ if and only if it can be expressed in the form

$$f(z) = \sum_{n=1}^{\infty} d_n f_n(z), \quad (4.2)$$

where $d_n \geq 0$ and $\sum_{n=1}^{\infty} d_n = 1$.

Proof: Assume that

$$f(z) = \sum_{n=1}^{\infty} d_n f_n(z) = z - \frac{\beta(V-M)}{n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_n} d_n z^n.$$

Then it follows that

$$\begin{aligned} & \sum_{n=1}^{\infty} \frac{n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_n}{\beta(V-M)} \frac{\beta(V-M)}{n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_n} d_n \\ &= \sum_{n=2}^{\infty} d_n = 1 - d_1 \leq 1, \end{aligned}$$

which implies that the function $f(z) \in \tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$.

Conversely, assume that the function $f(z)$ defined by (1.2) be in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$. Then

$$a_n \leq \frac{\beta(V-M)}{n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_n}.$$

Setting

$$d_n = \frac{n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_n}{\beta(V-M)} a_n,$$

where $d_1 = 1 - \sum_{n=2}^{\infty} d_n$, we can see that the function $f(z)$ can be expressed in the form (4.2). ■

Corollary (4.1): The extreme points of the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$ are the functions $f_1(z) = z$ and

$$f_n(z) = z - \frac{\beta(V-M)}{n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_n} z^n.$$

5. Radii of Close-to-convex and Convexity

Next, we discuss the radii of close-to-convexity and convexity.

Theorem (5.1): Let the function $f(z)$ defined by (1.2) be in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$. Then $f(z)$ is close-to-convex of order $(0 \leq \rho < 1)$ in $|z| < r_1$, where

$$r_1 = \inf_{n \geq 2} \left\{ \frac{[(1-\rho)(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_n}{\beta(V-M)} \right\}^{\frac{1}{n-1}}. \quad (5.1)$$

The result is sharp, the external function given by (2.3).

Proof: We must show that

$$|f(z)' - 1| \leq 1 - \rho \text{ for } |z| \leq r_1, \quad (5.2)$$

where r_1 is given by (5.1). Indeed we find from (1.2) that

$$|f(z)' - 1| \leq \sum_{n=2}^{\infty} n a_n |z|^{n-1}.$$

Thus

$$\begin{aligned} |f(z)' - 1| &\leq 1 - \rho \text{ if} \\ \sum_{n=2}^{\infty} \frac{n}{(1-\rho)} a_n |z|^{n-1} &\leq 1, \end{aligned} \quad (5.3)$$

but by using Theorem (2.2), (5.3) will be true if

$$\frac{n}{(1-\rho)} |z|^{n-1} \leq \frac{n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_n}{\beta(V-M)},$$

then

$$|z| \leq \left\{ \frac{(1-\rho)[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_n}{\beta(V-M)} \right\}^{\frac{1}{n-1}}. \quad (5.4)$$

The result follows easily from (5.4). ■

Theorem (5.2): Let the function $f(z)$ defined by (1.2) be in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$. Then $f(z)$ is convex of order ρ ($0 \leq \rho < 1$) in $|z| < r_2$,

where

$$r_2 = \inf_{n \geq 2} \left\{ \frac{(1-\rho)[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_n}{\beta(n-\rho)(V-M)} \right\}^{\frac{1}{n-1}}. \quad (5.5)$$

The result is sharp with the external function given by (2.3).

Proof: We must show that

$$\left| \frac{zf''(z)}{f'(z)} \right| \leq 1 - \rho, \quad \text{for } |z| \leq r_2,$$

where r_2 is given by (5.5). Indeed we find from (1.2) that

$$\left| \frac{zf''(z)}{f'(z)} \right| \leq \frac{\sum_{n=2}^{\infty} n(n-1)a_n |z|^{n-1}}{1 - \sum_{n=2}^{\infty} n a_n |z|^{n-1}}.$$

Thus

$$\left| \frac{zf''(z)}{f'(z)} \right| \leq 1 - \rho,$$

if

$$\sum_{n=2}^{\infty} \left(\frac{n(n-\rho)}{1-\rho} \right) a_n |z|^{n-1} \leq 1. \quad (5.6)$$

But by using Theorem (2.2), (5.6) will be true if

$$\left(\frac{n(n-\rho)}{1-\rho} \right) |z|^{n-1} \leq \frac{n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_n}{\beta(V-M)},$$

then

$$|z| \leq \left\{ \frac{(1-\rho)[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_n}{\beta(n-\rho)(V-M)} \right\}^{\frac{1}{n-1}}. \quad (5.7)$$

The result follows easily from (5.7). ■

6. Convolution Operator

Definition (6.1)[7]: The Gaussian hypergeometric function denoted by

$${}_2F_1(a, b; c; z) = \sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n n!} z^n, \quad |z| < 1,$$

where $c > b > 0, c > a + b$ and

$$(x)_n = \begin{cases} x(x+1)(x+2)\dots(x+n-1), & \text{for } n = 1, 2, 3, \dots \\ 1, & n = 0 \end{cases}$$

Definition (6.2)[7]: For every $f \in \mathcal{A}$, the convolution operator is defined by

$$\mathcal{W}_{a,b,c}(f)(z) = {}_2F_1(a, b; c; z) * f(z) = z - \sum_{n=2}^{\infty} \frac{(a)_n (b)_n}{(c)_n n!} z^n,$$

where ${}_2F_1(a, b; c; z)$ is Gaussian hypergeometric function (see [1] and [7]) introduced in Definition (6.1).

Theorem (6.1): Let f is given by (1.2) be in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$. Then the convolution operator $\mathcal{W}_{a,b,c}(f)(z)$ is in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \theta, \gamma)$ for $|z| \leq r(\beta, \theta)$, where

$$r(\beta, \theta) = \inf_n \left\{ \frac{\theta[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]}{\beta[(n-1)(1-\theta M)(1+\alpha\gamma) + \theta(V-M)] \frac{(a)_n (b)_n}{(c)_n n!}} \right\}^{\frac{1}{n-1}}.$$

The result is sharp for the function

$$f_n(z) = z - \frac{\beta(V-M)}{n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)] b_n} z^n, \quad n = 2, 3, \dots$$

Proof: Since $f \in \tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$, we have

$$\sum_{n=2}^{\infty} \frac{n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)] b_n}{\beta(V-M)} a_n \leq 1.$$

It is sufficient to show that

$$\sum_{n=2}^{\infty} \frac{n[(n-1)(1-\theta M)(1+\alpha\gamma) + \theta(V-M)] b_n \frac{(a)_n (b)_n}{(c)_n n!}}{\theta(V-M)} a_n |z|^{n-1} \leq 1. \quad (6.1)$$

Note that (6.1) is satisfied if

$$\frac{n[(n-1)(1-\theta M)(1+\alpha\gamma) + \theta(V-M)] b_n \frac{(a)_n (b)_n}{(c)_n n!}}{\theta(V-M)} a_n |z|^{n-1} \leq \frac{n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)] b_n}{\beta(V-M)} a_n,$$

solving for $|z|$, we get the result.

7. Integral Representation

In the following theorem, we obtain integral representation for the function $f \in \tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$.

Theorem(7.1): Let f and $g \in \tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$. Then

$$(f * g)(z) = \int_0^z e^{\int_t^z \frac{(M-V)\beta\phi(t)}{t[(1-\alpha\gamma)(1-\beta M\phi(t))]} dt} dt.$$

Proof: By putting $N(z) = \frac{z(f * g)''(z)}{(f * g)'(z)}$ in (1.4), we have

$$\left| \frac{N(z) - \alpha\gamma |N(z)|}{M[N(z) - \alpha\gamma |N(z)|] - (V-M)} \right| < \beta,$$

or equivalently

$$\frac{N(z) - \alpha\gamma N(z)}{M[N(z) - \alpha\gamma N(z)] - (V - M)} = \beta\phi(z),$$

where $|\phi(z)| < 1, z \in U$.

So

$$\frac{(f * g)''(z)}{(f * g)'(z)} = \frac{(M - V)\beta\phi(z)}{z[(1 - \alpha\gamma)(1 - \beta M\phi(z))]},$$

after integration, we obtain

$$\log((f * g)'(z)) = \int_0^z \frac{(M - V)\beta\phi(t)}{t[(1 - \alpha\gamma)(1 - \beta M\phi(t))]} dt.$$

Thus

$$(f * g)'(z) = e^{\int_0^z \frac{(M - V)\beta\phi(t)}{t[(1 - \alpha\gamma)(1 - \beta M\phi(t))]} dt}.$$

After integration, we have

$$(f * g)(z) = \int_0^z e^{\int_0^t \frac{(M - V)\beta\phi(s)}{s[(1 - \alpha\gamma)(1 - \beta M\phi(s))]} ds} dt$$

and this gives the result.

8. Inclusive Properties

Now, we obtain the inclusive properties of the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$.

Theorem(8.1): Let $\alpha \geq 0, 0 < \beta \leq 1, -1 \leq M < V \leq 1, -1 \leq M < 0, \gamma \geq 0$.

Then $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma) \subset \tilde{\mathcal{H}}(f, g, V, 0, \alpha, \tau, \gamma)$, where

$$\tau \leq \frac{(n-1)(1+\alpha\gamma)(V-M)\beta}{(n-1)(1-\beta M)(1+\alpha\gamma) + (V-M)(1-V)\beta}.$$

Proof: Let the function f given by (1.2) belongs to the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$.

Then in view of theorem (2.2), we have

$$\sum_{n=2}^{\infty} \frac{n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_n}{\beta(V-M)} a_n \leq 1. \quad (8.1)$$

We want to find the value τ such that

$$\sum_{n=2}^{\infty} \frac{n[(n-1)(1+\alpha\gamma) + V\tau]b_n}{V\tau} a_n \leq 1. \quad (8.2)$$

The inequality (8.1) would obviously imply (8.2) if

$$\frac{n[(n-1)(1+\alpha\gamma) + V\tau]b_n}{V\tau} \leq \frac{n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]b_n}{\beta(V-M)}.$$

Rewriting the inequality, we have

$$\tau \leq \frac{(n-1)(1+\alpha\gamma)(V-M)\beta}{(n-1)(1-\beta M)(1+\alpha\gamma) + (V-M)(1-V)\beta}.$$

This completes the proof.

9. Weighted Mean

Definition(9.1): Let $f * g$ and $h * k$ be in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$. Then, the weighted mean E_q of $f * g$ and $h * k$ given by

$$E_q(z) = \frac{1}{2}[(1-q)(f * g)(z) + (1+q)(h * k)(z)], 0 < q < 1.$$

Theorem(9.1): Let $f * g$ and $h * k$ be in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$. Then, the weighted mean of $f * g$ and $h * k$ is also in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$.

Proof: By Definition (9.1), we have

$$\begin{aligned} E_q(z) &= \frac{1}{2} [(1-q)(f * g)(z) + (1+q)(h * k)(z)] \\ &= \frac{1}{2} \left[(1-q) \left(z - \sum_{n=2}^{\infty} a_n b_n z^n \right) + (1+q) \left(z - \sum_{n=2}^{\infty} c_n d_n z^n \right) \right] \\ &= z - \sum_{n=2}^{\infty} \frac{1}{2} ((1-q)a_n b_n + (1+q)c_n d_n) z^n. \end{aligned}$$

Since $f * g$ and $h * k$ are in the class $\tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$ so by Theorem (2.2), we get

$$\sum_{n=2}^{\infty} n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]a_n b_n \leq \beta(V-M)$$

and

$$\sum_{n=2}^{\infty} n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]c_n d_n \leq \beta(V-M).$$

Hence

$$\begin{aligned} &\sum_{n=2}^{\infty} n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)] \left(\frac{1}{2}(1-q)a_n b_n + \frac{1}{2}(1+q)c_n d_n \right) \\ &= \frac{1}{2}(1-q) \sum_{n=2}^{\infty} n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]a_n b_n \\ &\quad + \frac{1}{2}(1+q) \sum_{n=2}^{\infty} n[(n-1)(1-\beta M)(1+\alpha\gamma) + \beta(V-M)]c_n d_n \\ &\leq \frac{1}{2}(1-q)\beta(V-M) + \frac{1}{2}(1+q)\beta(V-M) = \beta(V-M). \end{aligned}$$

This shows $E_q \in \tilde{\mathcal{H}}(f, g, V, M, \alpha, \beta, \gamma)$.

References

- [1] G. E. Anderws, R. Askey and R. Roy, Special Functions, Cambridge University Press, Cambridge, U. K. , (1999).
- [2] W. G. Atshan and S. R. Kulkarni, On a new class of analytic functions with negative coefficients, Analele University atii Oradea, Fasc. Mathematica, Tom XVI (2009), 43-51.
- [3] M. P. Chen, H. Irmak and H. M. Srivastava, Some families of multivalently analytic functions with negative coefficients, J. Math. Anal. Appl. 214 (1997), 674-690.
- [4] M. Darus, Some subclasses of analytic functions, Jour. of Math. and Comp. sci. (Math. Ser.) 16(3), (2003), 121-126.
- [5] A.W. Goodman, Univalent Functions, Vols. I and II, Polygonal Publishing House, Washington, New Jersey, 1983.
- [6] V. P. Gupta and P. K. Jain, certain classes of univalent functions, Math. Soc. ,14(1976), 409-416.
- [7] Y. C. Kim and F. Rønning, Integral transforms of certain subclasses of analytic functions , J. Math. Appl. , 258 (2001), 466-489.
- [8] A. Schild and H. Silverman, convolutions of univalent functions with negative coefficient, Ann. Univ. Mari. Curie Skłodowska Sect. 29 (1975). 109-116.